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L2278 E TR295E HEEFELERIER
éﬁs CO2 CO2 CO2
FR= HH= FR= HH= FR= HH=
(kg-CO2) (kg-CO2) (kg-CO2)
AV (AEE) 26,735 {i 62,025 24,301 {2 56,379] A 2,434z A 5,646
AV (BAEELS) 1,847 %% 4,285 2,321 iz 5,384 474 %3 1,099
KT 153,470 %% 382,141 175,465 % 436,908 21,995 3 54,767
L3 IONED) 15,150 1% 39,086 14,014 {3 36,157] A 1,135 {1 A 2,929
B (AN AELSY) 5,664 {% 14,613 7,789 % 20,095 2,125 %% 5,483
AE 374,500 Y% 1,014,895] 359,600 ¥ 974,516 A 14,900 %% A 40,379
HAE T A R (LPGABRE L) 10,137 kg 30,412 19,087 kg 57,262 8,950 kg 26,850
BEXEEEED) 2,963,541 KWh | 2,024,099] 1,104,176 KWh 706,673| A 1,859,365 KWh | A 1,317,426
EREFFEEREIRIR) 0 KWh 0] 1,958,967 KWh! 1,102,898] 1,958,967 KWh | 1,102,898
& &t 3,571,555 3,396,271 A 175,283
CH4 CH4 CH4
21k FR= HH= FR= HH= FR= HH=
(kg-CH4) (kg—CH4) (kg-CH4)
A= (REALyh)] 49,000 kg 54 56,000 kg 62 7,000 kg 8
BEEETHVY FEBAE) | 231,448.6 km 2] 226,703.0 km 2] A 47456 km A0
BHEIEETAHYIY:/RR) 0.0 km 0 0.0 km 0 0.0 km 0
BEPEETGHVIV BB 549155 km 1 60,833.2 km 1 5,917.7 km 0
BEEETHYI BEED) 1,951.8 km 0 4,997.2 km 0 3,045.4 km 0
BEEETGHVI BEW | 247205 km 0] 11,490.6 km 0]A 13.229.9 km A0
BEEET(F—tHIL:/ )| 58,687.0 km 1 62,436.0 km 1 3,749.0 km 0
BIEET (T —E /L TEEW) 12,978.0 km 0 7,996.0 km 0] A 4982.0 km A0
BBEEF (T —H )L BHE) 918.0 km 0 1,549.0 km 0 631.0 km 0
REDEGE CHILENREE) 251 B8 20,598 267 B8 21,919 16 B8 1,320
RESARLEBE (&) 147 B8 3,533 157 58 3,758 9 B8 226
REHIZE T EDEDSAR 256 B8 333 255 B8 332 A 158 A1
FKRIELRD IR (K ALIBS) 89,132 m 78 100,296 m 88 11,164 m 10
TARIELROMIE (LRI 2013 m 76 1,865 m 71 A 148 m A6
FEBLREUHHKNE 1,932 A% 1,140 1,429 A& 843 A 503 A& A 297
& &t 25,817 27,077 1,259
N20 N20 N20
21k FR= HH= FR= HH= FR= HH=
(kg-N20) (ke-N20) (kg-N20)
RAS—ERE (RBEXRL VL) 49,000 kg 0 56,000 kg 0 7,000 kg 0
BEEET AV FEAE) 231,449 km 7 226,703 km 71 A 4746 km A0
BEIEET(HYI2:/\R) 0 km 0 0 km 0 0 km 0
BEEETGHYI EH) 54,916 km 1 60,833 km 1 5,918 km 0
BEEETHYI BEED) 1,952 km 0 4,997 km 0 3,045 km 0
BEEETHVIL BEY) 24,721 km 1 11,491 km 0] A 13,230 km A0
BEEET(To—HIL:/\R) 58,687 km 1 62,436 km 2 3,749 km 0
BBEET (F—E /L EEBEN) 12,978 km 0 7,996 km 0] A 4982 km A0
BBEET(F—EL 53E) 918 km 0 1,549 km 0 631 km 0
RESARLEBE (&) 147 B8 237 157 58 252 9 B8 15
REHIZE T EEDSAR 256 BB 46 255 B8 46 A 158 A0
FKRIELRD I (K ALIE) 89,132 m 14 100,296 m 16 11,164 m 2
TARIELROMIE (LRI 2013 m 2 1,865 m 2 A 148 m ADO
FEBLREUHHKNE 1,932 A% 44 1,429 A& 33 A 503 A& A 12
& &t 354 359 5
HFC HFC HFC
21k FR= HH= FR= HH= FR= HH=
(kg—HFC) (kg—HFC) (kg—HFC)
BEEI 73 (EAR) 365 0 36 & 0 0& 0
& &t 0 0 0




L2758 E ER29FE ELHE LIS
“ CO2 CO2 CO2
HEFEBAEGR R HHE FHEE HHE FHZE =
(kg-CO2) (kg-C0O2) (kg-CO2)
AV (AEHE) 6,757 1 15,676 6,843 {1 15,875 86 17 199
AV (BAEELS) 0 ¢ 0 0 %% 0 0% 0
KTiH 0 ¢ 0 0% 0 0% 0
BH(AHE) 0 ¢ 0 0 %% 0 0% 0
B (AN AELSY) 0 ¢ 0 0 %% 0 0 %% 0
AE 53,000 Y% 143,630 52,000 Y7 140,920] A 1,000 ¥ A 2710
HAE T A R (LPGABRE L) 384 kg 1,153 343 kg 1,030 A 41 kg A 123
BEXELEEEN) 214,990 KWh | 146,838 0 KWh 0] A 214,990 KWh | A 146,838
BEXEFFEEIRIR) KWh 216,219 KWh 121,731] 216,219 KWh 121,731
& &t 307,298 279,557 A 27,741
CH4 CH4 CH4
RSB EGER FR= HH= FR= HH= FR= HH=
(kg—CH4) (kg—CH4) (kg—CH4)
RAS—ERE (REXRL VL) 0 kg 0 0 kg 0 0 kg 0
BEEET AV EAE) 75387.3 km 1 77682.8 km 1 2,296 km 0
BEIEET(HYIL:/\R) 0 km 0 0 km 0 0 km 0
BEEETHYI 8EH) 0 km 0 6855.2 km 0 6,855 km 0
BBEETHVIL TEED) 0 km 0 0 km 0 0 km 0
BEEETHVIL BEY) 7615.2 km 0 0 km 0] A 7615km A0
BEEET(T1—EIL:/\R) 0 km 0 0 km 0 0 km 0
BIEET (T —E /L EEBEN) 0 km 0 0 km 0 0 km 0
BEEEF (T —HIL BHE) 0 km 0 0 km 0 0 km 0
REDNEHECHILERNREE) 0 BE 0 0 BB 0 0 BB 0
RESARLEBE (&) 0E8 0 S 0 0 B8 0
REHIZE T EDEDSAR 0 BB 0 0 BE 0 0 BE 0
FKRIELRD I (K ALIE) om 0 om 0 om 0
TARIELROMIE (LRI 0Om 0 0Om 0 0Om 0
FEBLRE U HKNE 0 A& 0 (N 0 N 0
& &t 1 1 0
N20 N20 N20
RSB EGER FR= HH= FR= HH= FR= HH=
(kg-N20) (ke-N20) (kg-N20)
RAS—ERE (RBEXRL VL) 0 kg 0 0 kg 0 0 kg 0
BEEET AV EAE) 75,387 km 2 77,683 km 2 2,296 km 0
BEIEET(HYI2:/\R) 0 km 0 0 km 0 0 km 0
BEEETGHYI 8EH) 0 km 0 6,855 km 0 6,855 km 0
BBEETHVIL TEED) 0 km 0 0 km 0 0 km 0
BEEETHVIY BEY) 7,615 km 0 0 km 0] A 7615 km A0
BEEET(T1—EIL:/\R) 0 km 0 0 km 0 0 km 0
BIEET (F—E /L EEBEW) 0 km 0 0 km 0 0 km 0
BEEEF (T —HIL BHE) 0 km 0 0 km 0 0 km 0
RESARILEBE (4) 0E8 0 0 B8 0 0 B8 0
REHIZE T EDEDSAR 0 B& 0 0 BE 0 0 BE 0
FKRIELR DI (K ALIBS) 0om 0 0om 0 om 0
TARIELROMIE (LRI 0Om 0 0Om 0 0Om 0
FEBLRE U HEKNE 0 A& 0 (PN 0 (DN 0
& &t 2 2 0
HFC HFC HFC
RSB EGER FR= HH= FR= HH= FR= HH=
(kg—HFC) (kg—HFC) (kg—HFC)
BEEI 73 (EAR) 5 & 0 58 0 0& 0
& i 0 0 0
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L2758 E LR 29FEE
co2 CH4 N20 HFC co2 CH4 N20 HFC
B2 B2 B2 B2 B2 B2 B2 B2
(kg-CO2) | (ke—CH4) | (ke~N20) | (kg-HFC) | (kg-CO2) | (ke-CH4) | (ke~N20) | (kg-HFC)
[t 307,298 1 2 0 279,557 1 2 0
NEE 1,645,360 758 32 o] 1,546,408 637 28 0
FISHT REE 1,538 0 0 0 664 11,718 0 0
REE1EUEE 59,029 77 3 0 64,033 71 3 0
EMOKER 35,934 24,465 284 0 29,442 26,009 299 0
FEEEE. 405,903 82 16 0 377,885 92 17 0
& B # 722,110 196 7 0 716,955 204 7 0
HEHER 394,383 239 10 0 381,327 63 3 0
&5t 3,571,555 25,817 354 o] 3,396,271 38,794 359 0
AL g
ZBRIER 3 (ke-CO2) ERAIRERLL 2% o
AVIY 1.82% 61,762 R
AT 38 12.86% 436,908 &
Tt 1.66% 56,252 N = YYD
AE 28.69% 974516 . (T
AR 1.69% 57,262 N
BR 53.28% 1,809,571 RN &
B 100.00%] 3,396,271 ;'E; " AEH
AEH AR
29% E5
AR
2%
A2 (ke—CH4) ERAIERRLE Tk LRME
RAS— PRkt 0% 62 B SAR [ 2
BEIEFET 0% 4 1% 3% R
REDRE 81% 21,919 - = A S— PR
RESARDLE 14% 3,758 RESAFRM:- \ » BENEEST
BB D S AR 1% 332 \ S
T K- LR IR 1% 159 %
&iciE 3% 843 " RESARILE
100% 27,077 = R D 4 5 A R
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—RIE =% (N20) ERRBIER L
RAS—R 0% 0
BEENEELT 3% 10
RESARLE 70% 252
BRI D 4 S AR 13% 46
TK-LRANE 5% 18
FeiE 9% 33

100% 359
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